
Properties of Exponentially Large #'s

Exponentially Large numbers like eNA are so large that

even their logarithm is large, In 26 x1023 - 6 x 1823
,

while

In 6x1823 = 54.
.

To interpret such numbers always

take the log of the number

② Multiplying an exponentially large # by an ordinary
number

,
like a million

,
or 186 doesn't change its value

significantly

eNA . 166 = eNA 26 . (n10
= 26x1823 + 13

. 8 -26 x1023 - eNA

In terms of logs of this number logle A . 100 is

NA + 6 /n10 = NA + 13. 8 = Na

③ Now if
you

have sum of exponentially large numbers

only the largest is important

& this is huge but

t
Sum =

6x1623
+ 25. 99999 + 102 way smaller han the

first

-> 26x1823 (I + 20
,

00001x1024
(
-

elo's => that's small !
-26 x1023


